initialize_done=true &&
TYPE(tx_tobe_coded)=S &&
TYPE(tx_prev)=T

ELSE

—|

B

TX process

reset = true
-

{ power_on=true +

E

tx_tobe_ xmitted<=EFRAME_P
tx_prev<=tx_tobe_coded

L

initialize_done=true &&

TYPE(tx_tobe_coded)=2Z

| TYPE(tx_tobe_coded)=Z I

L
Z

tx_tobe_xmitted<=ENCODE(tx_tobe_cod

d)

ELSE

S

tx_tobe_xmitted<=ENCODE(tx_tobe_cod

* TYPE(tx_tobe_coded)=S

d)

ELSE

I
v ¢ TYPE(tx_tobe_coded)=D

D

tx_tobe_xmitted<:ENCODE(tx_tobe_cod(]d)

TYPE(tx_tobe_coded)=S

ELSE

J |
TYPE(tx_tobe_coded)=D ¢ TYPE(tx_tobe_coded)=T

T

tx_tobe_xmitted<=ENCODE(tx_tobe_cod
tx_prev<=tx_tobe_coded

b

d)

ELSE

TYPE(tx_tobe_coded)=2




RX process

power_on=true + reset = true + sync_done=false
¢<

E
TX_T0_gmii<=rX_err

rx_decoded<=EFRAME_G

sync_done=true && rx_prev<=rx_tobe_decoded
TYPE(rx_tobe_decoded)=S &KELSE :l-rx—e":EFRAME=G

TYPE(rx_prev)=T

sync_done=true && TYPE(rx_tobe_decoded)=Z

g Y
L
rx_to_gmii<=rx_decoded

rx_decoded<=DECODE(rx_tobe_decodep)
rx_err<=rx_decoded

ELSE
| TYPE(rx_tobe_decoded)=2 I

* TYPE(rx_tobe_decoded)=S

S
rx_to_gmii<=rx_decoded
rx_decoded<=DECODE(rx_tobe_decodef)
rx_err<=rx_decoded

[ ELSE
¢ TYPE(rx_tobe_decoded)=D

L

rX_to_gmii<=rx_decoded
rx_decoded<=DECODE(rx_tobe_decodep)
rx_err<=rx_decoded

. , ELSE
TYPE(rx_tobe_decoded)=D ¢ TYPE(rx_tobe_decoded)=T
7

TX_to_gmii<=rx_decoded
rx_decoded<=DECODE(rx_tobe_decodef)
rx_prev<=rx_tobe_decoded
rx_err<=EFRAME_G

TYPE(rx_tobe_decoded)=S | | ELSE

TYPE(rx_tobe_decoded)=Z




